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10° 0.17 0.98 0.18
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50° 0.77 0.64 1.20

D 1.15 @ 1.17 @ 1.19 @1.21 ® 1.23

cos10° —tan 10° + 2sin 10 ° X tan 50 °
=0.98 - 0.18 4+ (2% 0.17 x 1.20)
= 0.80 + 0.408 = 1.208 = 1.21




15. g 1389 AABC oM AC=b,BC=a,
sin A

CH1AB ¥ off, —— 9] 29
sin B
® a*p? @ a+b ® ab
b a
@3 Ok




16. The 2972 A7Ma7Hd ABC o4 AB A
S T POR L AL LY 12
(A 27H)

7
(@)—o @ Tcos43° ® 7sin43°
cos743 .
@ sin 43 ° @sin47°

cos B :cos43°:Z
x

webd x= —_ o]c},

cos43°
(A =90°-43°=47°0|B2
sinA:sin47°:z
X
webA x— " olch
sin 47 °




17. o5 2389 FAE APR = BEAF9 Zol7t 1 o3l F417}

90° olt}. Hla3l F22] §ol=?

>
w
o]

AABC oA AC = 1,/A = 60° ©]|E2 AB = cos60°
m:siHGO":?
— 1
A — = °0 -
AAPQ A AP =1,/A = 60° |22 AQ = —
,m:tan60°= V3
(AZ3 BH ] Wo|)= AAPQ ] Hol-AABC &] Ho]
1
AAPQ €] glol= £ x x (1x V3) = ‘/—
1 (1 3 V3
o] Yo - - M _ T
AABC 9] Hol= 2><(2><2> 5
L (133 2o o= B8 _ 35

o | | =




18. x of TSt oA Al 242 — 11lx 4+ a = 0 9] F 9] sin90° + cos0°
A o, a O] FZ FotH?

@4 o1 612 eun 61

O AP A A 2x2 —1lx+a=09° x =2 S HYSIH, 2x 22 -
11x2+a=0
8_22+a207 a:14




19. the 273 2ol uHAE e Pol7h 1 2l

AP oA OC = 0.59 & o, CD <] 2
o5 F5HH?

D
11/
.
0 C
2%e ARl IRl | EHHE
53° 0.80 0.60 1.33
54° 0.81 0.59 1.38
55° 0.82 0.57 1.43
56° 0.83 0.56 1.48
@ 0.57 @ 1.38 @ 0.59 @ 0.82 (@)0.81
oC O0OC —
cosx’°==—=—,0C =059 o|2&2
oD 1
x°=254°
sin54° = 2 _u 0.81 o]|B.&
-~ CD =0.81




cos? A — cos? (90° — A)
"1+4+2cosA xcos(90°—A)

o; ©; ®

20. tanA = % < o o] Zh2?

O]

=
[ AN

O =

cos(90°—A) =sinA
sin?x +cos?x=19°|E2
cos? A —sin® A
cos? A + 2cosA x sinA + sin® A
(cosA +sinA)(cosA —sinA)

(cosA +sinA)?
cosA —sinA
=— (= A+sinA #0
cosA +sinA (2 G anales 1)
sin

cosA _ l1—tanA
sinA ~ 1+ tanA
CcosA

&) =

1
1
3




21. o I™EA] sinx o aF2?

§
V3 g DB
\‘\D
\\\.‘l'—/’B
V2 V3
ovi o+ @F ovu o

“l%

8




22. o5 29I} Zo] A9 dojrt 4 <l
AAFHA 9] 9F B2]3] O of| A Dol =
Ao S H g st AB 9] $HE M
olgt 5t} /OCH = x 2t & W, tanx 2
20

@v: @23 033
@ V3 ® 3V3

c—M:4x§:2\/§
CH = 2v3x 2 = 208

2
o]
||
S
|
S
ps
—
||
|l
N
P

5

. tanx =

<[Z)e]
I
S

QO




\/(cosA —sinA)® + \/(sinA+cosA)2 = V2 & o, tanA °] gH-2?
(H,0°<A<45°)

D2v2 @ V2 ®vi @ ® 0

23.

B

°< A <45°00A] cosA —sinAd > 00|22
FA]) = (cosA —sinA) + (sinA + cos A)
=2cosA = V2

V21
Z cosA = — = — oA LA =45°
2~ s

. tanA = tan45° =1




949) @ 7 C oA

24. ©h 23T Zo] ¥ AB B AF 0
ottt AB = 10cm ,

o=
o 21403 A5 AB o AgAte] LA
/BAC = 30° 2w}, BD ©] 2o}

il

@ 3cm @ 3.5cm ® 4cm

@ 4.5cm ®)5cm

B \
HB9CE o]l /BCD = /BAC = 30°

/ACB = 90° °]B 2 /ABC = 60°

ACBD oA

/BDC = /ABC - /BCD = 60° — 30° = 30°

- BD = BC = 10sin 30° = 10 x % = 5(cm)




B z | sin z| cos z | tan z

D 53°| 0.80|0.60 | 1.33

54°| 0,810,559 | 1,38

55°| 0.82| 0,57 | 1,43

T , 56° | 0.83| 0.56 | 1,48
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